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Supplementary Fig. S3. Comparison of concentrations calculated from the same samples injected at volume of 2 pl and 0.2 pl (adult
men, premenopausal and postmenopausal women in follicular and luteal menstrual phases) as evaluated by Passing Bablok robust
regression. Panel A represents the relationship for the full concentration range of DHEA sulfate and panel B shows only the samples,
which were within the linear dynamic range. Panels C and D show the similar situation for androsterone sulfate.



